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Answers for 6.3
For use with pages 376-380

6.3 Skill Practice
1. congruent, proportional

2. Yes; no; if two polygons are
congruent, corresponding angles
are congruent and the scale
factor is 1. If they are similar,
corresponding angles are
congruent but one polygon can
be larger than the other since the

scale factor does not have to be 1.

3. LA=LL, LB= /LM,
LC=/LN;
AR BC. Cd
LM MN ™~ NL

4. LD=LP LE= L,
L = LR LG LS:
DE EF FG GD
PO ORI RS TSP

8. LHN=LW,L]= LX,
LR =LY, LL=LT

A K KL IH
Y XY 2N

6. D
7. similar; RSTU ~ WXYZ, 2

8. similar; ACDE ~ ATUV, 3

9. § 10. 27.5, 12, 65
11. 85,34 12. 36 in.

13.

14.
16.
18.

19.

21.

22.

24.

25.

26.

27.

28.
29.

The larger triangle’s perimeter
was doubled but should have been
halved; perimeter of B = 14.

sometimes  15. always
sometimes  17. never
x: 1; since the order of the figures

switched, simply switch the ratio.

altitude, 24  20. median, 9
2. 3.
105 m., 13§ 1m.

11

6.4 in. 23. 5
e _|
AC = 2225,ED =10
3
17§
About 201, 41.6; the ratio of their

areas 1s approximately equal to
the scale factor squared.

No; in similar triangles
corresponding angles are

congruent.

D
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An swers fo r6.3 continued
For use with pages 376-380

30. Yes, yes, yes. Sample answer:
AABC ~ AABC. If AABC ~
ADEF, then ADEF ~ AABC. If
AABC ~ ADEF and ADEF ~
AHJK, then AABC ~ AHJK.

6.3 Problem Solving

31. No; the side lengths are
not proportional.

32. yes;%
33.a. 28,4.2,56,2.1
b. Bl T

B

1

_! { X

yes
10 18

C. Y =7x">; they are the same.

93,000,000 mi

3, 000,000
b. Sample answer: Since the
triangles are similar, the
light from every point of
the sun that is in ABDA is
blocked by the moon before
reaching Earth.

c. about 1116 mi

35. Yes; if £ = w then the larger and
smaller image would be similar.
Sample answer: Let [ = 8,

e Lo ol v
w—8,anda—4,w+a—12
L |2

T e a gl he ¥
36. The ratio of the areas of similar
figures is the square of the scale
factor. Sample answer: Consider
two rectangles, one 2 X 4 and the

other 6 X 12 with scale factor

1 . Ty
3 and ratio of areas 77 = 9

-3
3y
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An swers fo r6.3 continued
For use with pages 376-380

37. a. They have the same slope.

b. b, ¢c; £BOA = £ DOC by the
Vertical Angles Theorem;
Z0BA = £0DC by the
Alternate Interior Angles
Theorem; £ BAO = ~ DCO
by the Alternate Interior
Angles Theorem.

c. A(—3,0), B(0, 4), C(6, 0).
D(0, —8); 40 = 3, OB = 4,
BA=5,CO=6,0D =8,
DC = 10

L
b
a g\g M
c
K d N
bx
ax R
cx
P dx S

Sample answer: KLMN ~ PQORS
is given. Since the rectangles are

similar, let % be the scale factor

and let a, b, ¢, d be the lengths of
the sides of KLMN and ax, bx, cx,
dx be the lengths of the
corresponding sides of PORS.
Taking the ratio of perimeters

ax+bx+tex+de

a+b+c+d

xatb+c+d
atlb+c+d

you get

=X

e 1+ Vs
39.1+ 5; 2 i 1
2 1 1+ V5

6.3 Mixed Review
40. perpendicular

41. neither 42. parallel
43. 145° aa4. 60° 45. 78°
46. < 47. = 48. >

6.1-6.3 Mixed Review of
Problem Solving 5%0

La%ﬂ&u

b. 16, 48
c. 12,108

d. The ratio of areas is the square

of the ratio of perimeters.

2. 1562,

-—
N
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Answers for 6.3 .omines

For use with pages 376-380
3. Sample:
U
3km 5cm

74 4 cm w
D

1.5cm 2.5 -
E 2em F

Scale factor: %

4. a. 174 British pounds
b. $322.22
5. a. about 6 in.
b. about 275 times
8 7.2;

SEEEEEEEEENR
©EOROOERORIO0 -
OEOPVEOOOLIO

PEOPOOOOOIIO

A A

R

about 16 b per person

about 64 1b; aboutilt;
v7 Y3

about L& apples -

Yes. Sample answer: 1f apple
production decreases due to
weather conditions apples
become less plentiful and
the per capita consuption
would decrease.
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